
https://www.passapply.com/jn0-348.html
2024 Latest passapply JN0-348 PDF and VCE dumps Download

 

 

 

JN0-348Q&As

Enterprise Routing and Switching, Specialist

Pass Juniper JN0-348 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/jn0-348.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

Latest JN0-348 Dumps | JN0-348 Practice Test | JN0-348 Study Guide                                1 / 4

https://www.passapply.com/jn0-348.html
https://www.passapply.com/jn0-348.html
https://www.passapply.com/jn0-348.html


https://www.passapply.com/jn0-348.html
2024 Latest passapply JN0-348 PDF and VCE dumps Download

QUESTION 1

Which static route next-hop value indicates that the packet will be silently dropped? 

A. resolve 

B. discard 

C. reject 

D. next-table 

Correct Answer: B 

 

QUESTION 2

You want to advertise only a default route into a new area, which will be called area 7. In this scenario, which
configuration statement would solve this problem? 

A. user@host# set protocols ospf area 0.0.0.7 nssa default-lsa default-metric 10 

B. user@host# set protocols ospf area 0.0.0.7 stub no-summaries 

C. user@host# set protocols ospf area 0.0.0.7 stub default-metric 10 

D. user@host# set protocols ospf area 0.0.0.7 stub 

Correct Answer: A 

 

QUESTION 3

You want to use filter-based forwarding (FBF) to forward traffic sourced from subnet 10.0.0.0/24 to a specific
destination. 

Which two routing instance types would enable you to accomplish this task? (Choose two.) 

A. virtual switch 

B. virtual routing and forwarding 

C. virtual router 

D. forwarding 

Correct Answer: CD 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, which two statements are correct? (Choose two.) 

A. Router A does not send routes learned from Router E to Router B, Router C, and Router D 

B. Router A sends routes learned from Router E to Router B, Router C, and Router D 

C. Router A sends routes learned from Router D to Router B and Router C 

D. Router A does not send routes learned from Router D to Router B and Router C 

Correct Answer: BD 

 

QUESTION 5

How many bytes of overhead are added to a packet traversing a GRE tunnel? 

A. 20 

B. 24 

C. 12 

D. 16 
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Correct Answer: B 
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